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3. sin 0° X tan 0° — cos 0° 2] ZF& A, sin90° x cos 90° + tan 0° 2] <

Bt & o B-A 9] gk2?
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4. oS 3 AZH 9] o] A TAR g2 AL 12H?
@ sin20° > sin49° @ sin31° > cos31°
@ sin20° = cos30° @ sin45° > cos45°

@Sin 23° < cos23°

0°<x<45° 2l HEOA sinx < cosx 0], x =45° 4 o,

sin x = cos x < tan x ©|T}.
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@ sin 20° < sin 49° @cos 10° < cos 47°
® sin45° = cos45° @cos 60° > tan 30°
® tan23° < tan73°
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11. S5 x o g oA 7F 2 A27 (F, 0° <x<90° °]t. )

@tanx =3 @ sin(x+10°) =

® cos(2x-10°) = ? @ tan(2x+30°) =1

N =

® sinx = cosx
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15°
@x—?
® x = 45°




12, o2 EE o]&sl
(tan44° + cos 46 ° — 2sin 45 °) x 10000 2] g o=t

Zte sin cos tan

44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0,7193 0.6947 1,0355

D 246 @ 967 ® 1760 @2462 ® 3240
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tan44° = 0.9657

c0s 46 ° = 0.6947

sin45° = 0.7071

o (tan44° + cos 46 ° — 2sin 45 °) x 10000

= {0.9657 +0.6947 — (2 x 0.7071)} X 10000
= (1.6604 — 1.4142) x 10000 = 2462




13. oS 4ZHH] B B 11 c0s25° +sin25° X sin50° — tan 50 ° 9] ZFS
2ot B A27NA TR

e sin cos tan

25° 0.42 0.90 0,46
50° 0.76 0.64 1.19
70° 0.93 0.34 2,74

@® 0.06 @ 0.05 ® 0.04 @0.03 ® 0.02

S5 \
c0s 25 ° + sin 25 ° X sin 50 ° — tan 50 °

=0.90 + 0.42 x 0.76 — 1.19

= 0.90 + 0.3192 - 1.19

= 0.0292

= 0.03
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42° 0.66 0,74 0.90
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44° 0.69 0,72 0.97
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31. \/(cosA—sinA)2 + \/(sinA—|—cosA)2 = V3 ¥ o, tanA 9] S

TFstodat. (T, 45° < A < 90°)

> E:
> e V3
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45° < A < 90°9 A sinA > cosA > 0°| 22
(£4]) = —(cosA —sinA) + (sinA + cos A)
=2sinA = V3

= sinA = \/73 of A4 LA =60°

. tanA = tan60° = V3
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Ay = D A AH7HA] 9]
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